List 4.5.2. Perl script, bwt.pl, implements the Burrows-Wheeler transform.

     #/usr/local/bin/perl -w

     #bwt.pl

     #

     #creates L and F columns of BWT transform from a simple text

        (text.txt)

     #and re-creates the text file from the L column and the

        index number

     #

     #The programs runs out of memory on the hp computer unless

        text.txt

     #is no greater than about 32kb

     #

     open (TEXT,"text.txt")||die"Cannot";

     open (OUT,">bwt.txt")||die"Cannot";

     my $line = " ";

     $/ = undef;

     $line = <TEXT>;

     $/ = "\n";

     $line = lc($line);

     $line =~ tr/a-z/ /c;

     $line =~ s/\n/ /g;

     $line =~ s/^ +//g;

     $line =~ s/ +$//g;

     $line =~ s/ +/ /g;

     @linearray = split(/ +/,$line);

     $firstword = @linearray[0];

     $arraylength = scalar(@linearray);

     foreach my $thing (@linearray)

        {

     my $thing = $thing .

        "\%\%\%\%\%\%\%\%\%\%\%\%\%\%\%\%\%\%\%";

        $thing = substr($thing, 0 , 15);

        push(@newlinearray,$thing);

        }

     @linearray = @newlinearray;

     my $count = 0;

     while ($count < (scalar(@newlinearray)-1))

        {

        $bwtline = join("",@linearray);

        push(@bwtarray, $bwtline);

        $first = shift(@linearray);

        push (@linearray, $first);

        $count++;

        }

     @doubletarray = sort(@bwtarray);

     $count = 0;

     foreach $thing (@doubletarray)

       {

       my $begin = substr($thing,0,15);

       $begin =~ s/\%//g;

       my $end = substr($thing,-15,15);

       $end =~ s/\%//g;

       print OUT "$begin $end $count\n";

       if ($end eq $firstword)

         {

         $beginplace = $count;

         undef($firstword);

         }

       push (@f, $begin);

       push (@l, $end);

       $count++;

       }

     my $count = 0;

     for(my $i=0;$i<$arraylength;$i++)

        {

        $lhash{$count}=$l[$i];

        #print OUT "$count $l[$i]\n";

        $count++;

        }

     print OUT "\n\n";

     my @T;

     for(my $i=0;$i<$arraylength;$i++)

       {

       for (my $n=0;$n<$arraylength;$n++)

         {

         if ($f[$i] eq $l[$n])

            {

            push(@T,$n);

            $l[$n]="";

            last;

            }

         }

       }

     $count = 0;

     foreach $transform (@T)

        {

     $transformcount{$count} = $transform;     #transforms to the

        next word

     $transformtransform{$transform} = $count; #transforms to the

        prior word

        #print "$count $transform\n";

        $count++;

        }

     print join(",", @T);

     $count = 0;

     while ($count < $arraylength)

        {

     print OUT "$lhash{$beginplace}

        \($beginplace\,$transformcount{$beginplace}\) ";

     print "$lhash{$beginplace}

        \($beginplace\,$transformcount{$beginplace}\) ";

        $beginplace = $transformcount{$beginplace};

        $count++;

        }

        exit;
